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16/1-16.3/154-¢ @ 24.01.2013 €)</span></span><span lang="UK">;</span></p> <p
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class="a1"><span lang="UK">- 0@ 9900000000000 0900 9$900900H<strong>000¢
Y9</strong> (009) 009 "0000009 900, 000 0009" (0006 9067304, 7305, 7306
Q000090009 900000090 9000000 900000000
000009000"'90000(0000000009)' 90090009090 900900090000000090 000,000
Q000 V009, 0009, V009 V000D 9090999 9</span><span class="a4"><span
lang="UK">(®® N 11.1/1.2-19/789-¢ & 24.01.2013 @)</span></span><span
lang="UK">;</span></p> <p class="al"><span lang="UK">- €@ <strong>e @€ ®/strong>
G 900090009 9009090090909 9 9009090 90909090-90909090 90900000000000009
</span><span class="a4"><span lang="UK">(@®eN 15/1-15.2-3/189-¢ & 23.01.2013 ¢, N
15/1-15.2-3/201-¢ @ 23.01.2013 @)</span></span><span lang="UK">;</span></p> <p
class="al1"><span style="line-height: 1.3em;">®®@®</span></p> <p class="al"><span
style="line-height: 1.3em;" lang="UK">- 000 0® ¢09000909 <strong>00006009096 6006
@ 990900909 9/strong> </span><span class="a4" style="line-height: 1.3em;"><span
lang="UK">(®®e N 1617 € 13.11.2012 @)</span></span><span style="line-height: 1.3em;"
lang="UK">;</span></p> <p class="al"><span lang="UK">- €@ ®@<sitrong>0000o, ¢ 66¢
<span class="ab">¢ 900 e ¥ 6 é/span></strong><span class="as5"> ¢ 00006 0o
Q00009 9 9900009 90009000000 90 9000009 99 <stroNY>V VG VY 90 9</strong>,
Q0000000000009 90<strONY>VVVV V9 9900V 9/strong></span> </span><span
class="a4"><span lang="UK">(®@® N 1851 & 25.12.2012 &)</span></span><span
lang="UK">.</span></p> </p> </div> <p>@</p>
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